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L) By_\&ming each'nUmber correct to 1 significant figure, estimate the value of g

| 20.49
© 1.46+3.025%

Answer: PRS- S ST T L 2

(ii) Writing doWh all the figures shown on ybur caté:u!ator, find the valuarbf' "
| o 2949
© 146430255 0

(iii) Write your answer to part (ii) 'correct to

(a) 3dec.i'm'e‘1l'places' L

"""""""""
e
------------------------------------

(b) 3 significant figures. -

.........
-----
-----------------------------------

N A bvamema— o .




2, Chorry ples r cost £2. 24 "a‘ch- : — L R .,
vt ¢ \ o : B . e
() Oilvor buy., as rnany cherry p;es as he can with a £20 note Tl e

: (a) How many cherry ples does Ohver buy'?

 Answer: ..... vnsrsermonraneiogss = (1)

(b) How much change does he fecei\)e_from his £20 note?

s ANSWEr: £.viionnns (1)

O (n) Alastarr is havmg a cherry p:e party o By e as .
=" ~ He buys 25 cherry ples and the shop assrstant is so surpnsed that ;
' shegives him foffthetotalprice. . . 0 = .

How much change does Alastair recelve from a £50 note‘?

“Answer: £ . reenssramranseseatiar —— e -

'S.A. 2837128 .



3. (a) Simplity

(i) 2n + 3m ~ 4n

(i) 2% = 3n +4n - 5n°

(i) 67 % 3rF

(iv) 6n+3n
3n?

(b) Multiply out the bracket and simplify
2(a+ 3) +3(2a—5) '

~ (c) Factorise completely
. 14cd-21cd

TN A smAmse— o=

ANSWET: ..coveee s SFER— (1)

©

Answer: ........ I 555 e an i @

--------
-----
-------------------------------------

----------
ven
-----------------------------------



4. (a) Solve the following equations:

() 2a— 05 =17

ATISIYET: 8 T L iiieiioireesinnsasessrssassestnsesnssesssaes

(i) 1b+1=4
CARSWER D= oo O
(i) 7¢+1=57 = 2(1 — ¢)
CANSWEr: €= i SR s -
(b) (i) Solve the following inequality:
10 - 3d<9d + 16 ’
C ANSWEL L.oiiiiiitiiicnniisasesnnsesassservessassansasas

(i) Write down the smallest integer which satisfies the inequality in part (b) (i).

CANSWED veeicnnns eearesasiereasemsrersereanterariennras

2

(1)

. SA.2837128 . 5 . Tumover.



5. (i) Constructa rhombus, ABCD, in whic_:h each side is 6.6 cm lo_ng.
The diagonal AC, which is 10 cm long, IS drawn for you.

A C
O
(ii)'. Measure the length of the diagonal BD. ' .
ANSWEL: vveervreeseeisenseeses e Cm- (1)
(ii) Calculate the area of the thombus ABCD. 5
Answer: ...... esseseesesessiasn cm® (@) -

(iv) The diagonals of another rhombus are 8.4 cm and 3.5 cm long. Caic.:u'late th'e area
~ of this rhombus. ' | |

| ANSWET: e, N o (@)
. sazeams . 6




x complote the tablo of values below.

r e M BB W A e e e
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and tabel the line y

(i) On the grid below, draw

x* complete the table of values below.

1
2

(2)

o

-3

-..1_;_

(i) if y =3 -

(iv) On the grid below, draw and label the curve y

(2)

— 1,2
3—zX

—_

O

{v) Write down the x-coordinate of each point of intersection of the line and the curve.

and .........

seaprsssasaate
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) : E . ' R " 7C83v _
7. (i) Write 225 as a product of prime factors using 'md{ .

ANSWET. ..ocrcimininnnin,,,. (2)
~ (i))'3.5 and 9 are one-digit factors of 225
Write down all the two-digit factors of 225
ATISWEL? ovveeessuseressssansarassassasossssrssantameass T (3)

Q
8. Johncycles 6 kilometres-to' gét to wor_k. it takes him 25 minutes.

What is his average speed
(i) in km/h

(ii) in m/s?

1t 5 miles is the same as 8 kilometres, what is John's average speed

(i) in miles per hour?

Answer

-------------------
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 Luckily, Max is wall enough to plot tho first three results on the graph paper bQ’OW-“

10, Mathematical Max has moaslos,

TR gy - s pmem

=p)
o

temp, 38y
in°*C .

I~
58]

)
()

U
@

wassemenn

, at 'vahic;h

arly on the graph.

~7pm
eremsrioss B0 Fuiposs s renm ook

6pm

(RN

5pm

“time

Answer: from ...
Answer: .......

Answer: ...
Ma_r_k.this point cle

10

.

3

3pm - 4pm

2pm

Plot the remaining results on the graph and join the points to form a line graph.

‘Max's temperature reaches 36.9 °C

Apm

i)

(

(i) During which hour did Max’s temperature rise the fastest?
(iii) At what time between 1pm and 5pm is Max's_ tempefatu_re 39 °C and falling?

From 4pm onwards, Max's temperature falls steédily.,
(i) By extending the graph fine, work out the time to the nearest ‘minut‘e |

Max's temperature contihues to fall steadily.

 S.A. 2837128
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2. () (é) Calculate the size of the exterior angle, X, of a regular pentagon.

" notto s_cale

Answer: D i L) I

(b) Calculate the size of the interior angle of a regular pentagon.

ANSWEL:  cveoeerersarassesssssanes el 1

{(iy (a) Calculate the éum of the interior angles of any pentagon.

(b) Three of the angles of a pentagon are 140°, 148° and 156°
~ The remammg two angles, a and b, are such that a = 2b
Calculate the size of each of the remaining two angles.

ANSWET @ = Lol ANG D= creeeeierceeeierrnrens {2)
12



" 43. Petrol cost 92.07pence‘ per litre.
-~ Jack always bought 24 litres of petrol each week

(i) How much did Jack spend on petrol each weék5

Ans_.wer: £ ......... PRGN | | (1)

~ The price of petrol increases by 7.5%. |

(ii) What is the new price of one litre of petrol?
‘Give your answer correct to 1 decimal place.

o

Answer: ereasensnensens reesnsererenireesyisseesensess P (2)
' Because of the price increase, Jack decides to reduce the amount of petrol he buys »
each week by 12.5%. . | "

(jii) How much does Jack now spend on petrol each week?

ANSWETL £ oooeeeesesesesmsramsssressssssrissassasassassisns {2)

(iv)‘ Find the reduction in Jack’s weekfy petrol bill as a percentage of his original weekly
er correct to the nearest whole number. '

bill. Give your answ

ANSWET:  coeeeriiinerersnuseras 7 s syesees .
13 __Turnover.-
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- 14. Farmer George has only goats and chickens on his farm. . o \4‘\_“\_

He has g goats and ¢ chickens, " ' i ' ; '

- Each goat has four legs and each chicken has two legs.
Farmer George counts the animals’ legs and afri\}es at a totat of 88 togs. o

(i) Write this information as an equation, in terms of g and ¢, and simplify the’

equation. 0 h | '

ANSWEr: ... RS pp— L-.-....7..--.-.---.-.....7.... (2)
_ Farmer George's son, William, is only three years old. He is good at maths but mudfi.?'s
his animal names. He knows how many of each animal are cn the farm but he thinks

that goats have two legs each and chickens have four!
- William works out that the animals on the farm will have a total of 88 legs. -

(ii) Write this information as an eguation, in terms of g and ¢, and Siﬂ‘%pii’fb" the

‘equation.

,_4
[£Y)
g’

ANSwWer: co.... ol S o e AR

(iiiy Solve these equations simultaneously to find the values of g and C.

Answer: g=. ’
A = ,
s er' g ------------- 4dsssdranvaes Ansbsrbasrsrynenstn

sA28a7I28 R
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" 15 Your calculator shows that 3__

0.363636

0.36 is called a recurring decxma! because it repeat
s.

...... which is written 0. 36

(i) Use your calculator to hel ita 7 : |
- _ A p you write 5 as a recurring decimal.

Lily is an expert on her mUItip!ication tables.
She notic ’ .
esthatthereisa cpnnectnon between these recurnng demmals and one Of her

multlpllcatlon tables.

(i) Usmg this connection, or oth -y 7
erwise,
fractlons in their lowest terms: | wrlte hic folIOWlng feCU”'"Q deClmalS 5

(a) 0.27

©) 072

(ul) Use a sxmuiar metho

O Iowest terms:

(a) 0.05

(b) 0.045

" §.A 2837128

Answer: .....

ANSWeT: .......

------------------------------------------------

emesessasnadsesbasancasTATaRTERTTRRN AR LT ANIRE

d to write the_foliqwing recurring decimals as fractions in their

(Total marks: 100)
15
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